HOMEWORK 14

‘Ovopa:

Huepopnvia:

Multiplication & Division
REVIEW

The whole packet is due Friday 12/15.
Upload on Archie, no later that 8am.

Test on Multiplication and Division
Thursday 12/14



1. NA KANEIZ T1> MPAZEIZ.

4X4= 5X5= 6X1= 2X4=
5X6= 6X4= 8X 2= 2X 4=
8X 8= 9X 6= 4X3= 8X 8=
9X9= 3X4= 8X 4= 4X 1=
6X8 = 6X7= 7X5= 4X5=
3X2 = 7X8= 4X6= 1X2=
1X7 = 8X 1= 4X 7= 5X0=
4X8= 4X4= 55X 8= 6X6=
7X6= 1X6= 5X9= 3X3=
5X9= 2X8= 6X8= 9X6=
8X3= 2X0= 6X4= 6X3=
3X8= 1X5= 3X5= 9X7=
9X9= 5X8= 3X6= 6X8=
6X2= 8X 7= 2X3= 8§X 1=
5X4= 8X3= 2X2= 5X5=
1X3= 6X1= 4X7= 4X2=

2. NA ANTIZTOIXIZEIZ TA Q3 TA.

(4X2)+(4X4) © ® 5X7
(5X6)+(5X5) © © 4X6
(6X3)+(6X6) © © 8X4
(8X5)+(5X8) © © 10X4
(3X4)+@dX7) © © 5XI11
(3X6)+(2X7 © ® 6X9
(2X9)+(3X3) © ® 10X8
(5X4)+(3X5) © ® 3X9




3.X D=27

ox| |-73
6x| |-30

ox| |-36

3| ]-12
8x| |-40

X/ 2x| |-10

Find the mistake!!!

5x| |-45
x| |49

3| |-36
2XD=22

8x| |-32
4XD=48

3x| ]33
8x| |-56

3x| |-45
5x|  |-60

2x|  |-16
8x| |-64

x| |-42
gx| |-81

7x|  |-35
2x| |30

gx| |-88
2x | ]-12

7XD=21
8XD=24

ax| |-20
7x|  ]-77

5x| |-25

7x| |14
ax| ]-16

5x| |15

ax| |-24
5x| |-55



Zupnirjpwoe toug apiBpoig ou Aslouv ouig napakdww npagelg, 6mwg o1
padeypa:
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3:3= 4:4= 6:6= 7:7= 8:8= 9:9=

6:3= 8:4= 12:6= 14:7= 16:8= 18:9=

9:3= 12:4= 18:6= 21:7= 24:8= 27:9=

12:3= 16:4= 24:6= 28:7= 32:8= 36:9=

15:3= 20:4= 30:6= 35:7= 40:8= 45:9=

18:3= 24:4= 36:6= 42:7= 48:8= 54:9=

21:3= 28:4= 42:6= 49:7= 56:8= 63:9=

24:3= 32:4= 48:6= 56:7= 64:8= 72:9=

27:3= 36:4= 54:6= 63:7= 72:8= 81:9=

30:3= 40:4= 60:6= 70:7= 80:8= 90:9=

A. TPHIOPH E=AYKHZXH - OiI mivakectou 2, 3, 4, 5 kai 9

f2xs=ai2= Msiz= (24i4=
[30:3=  8xa=  i2xe= 4=

ax4= U7 Xa3= {3X5= 140 4=

12: 3= 36 : 4= 90:9= 72:9=
7X 2= WéW%xs:
gWWgWEW‘;?xg:
6 X 9= 0X2= 5 X 3= 512 54=
Wzs:s= 27:3= 8 X 5=

SAAAANAANAAANANANAANNANANAN/ L




